Name: ID# Lab Section:

PRE-LAB (Weight: 20 %)

SHOW ALL RELEVANT CALCULATIONS ON A SEPARATE SHEET

(1) A DC motor has the following parameter specifications :

Armature resistance R=..................QQ (range:151t0 6Q)

Back-emf Constant Kp = ................ Volt-sec/rad (range 0.002 to 0.008 V-s/rad)

“No Load” speed on = ..vvvvvvnvnnnnnn. RPM (range 5000 to 7000 RPM)
[convert to radians/sec!]

Input Voltage Vin=.....ovvnnenn.anVolts (range 2-10 volts)
[Choose Vi, > E}, by 1-3 volts]

“Full Load” speed ofi = ...ccvvvevnnnnnn. RPM (range 2000 to 6000 RPM)

(o1 < oo )

For values of the above parameters selected by you (within the ranges shown)
determine (under steadystate conditions,L — SC,J — OC):

(@) The No-load and Full load armature currents | (noload)= .............. A
& I (fullload)= ............. A

(b) The corresponding torque T = ................ Nm
(c) The effective *‘NoLoad’ Viscous FrictionB = ............... Nms/rad

(d) The speed regulation S=..................coenes %

Comments re. your calculations:
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